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[0 O O Consider a society consisting only of Susan, who allocates her production time between coffee and nuts.
She has nimble fingers, a quality that makes her more productive at picking coffee than at gathering nuts. She can
gather 2 pounds of nuts orpick 4 pounds of coffee in an hour. If she works a total of 6 hours per day, describeher
production possibilities curve——the graph that displays, for each level of nutproduction, the maximum amount
of coffee that Susan can pick.The vertical axis in Figure 2.1 shows Susan's daily production of coffee and
thehorizontal axis shows her daily production of nuts. Let's begin by looking at twoextreme allocations of her time.
First, suppose she employs her entire workday[] 6 hours picking coffee. In that case, since she can pick 4 pounds
of coffee per hour,she would pick 24 pounds per day of coffee and gather zero pounds of nuts. Thatcombination of
coffee and nut production is represented by point A in Figure 2.1.1t is the vertical intercept of Susan's production
possibilities curve.Now suppose, instead, that Susan devotes all her time to gathering nuts. Sinceshe can gather 2
pounds of nuts per hour, her total daily production would be 12pounds of nuts. That combination is represented
by point D in Figure 2.1, the horizontal intercept of Susan’s production possibilities curve. Because Susan's
production of each good is exactly proportional to the amount of time she devotes to thatgood, the remaining
points along her production possibilities curve will lie on thestraight line that joins A and D.For example, suppose
that Susan devotes 4 hours each day to picking coffeeand 2 hours to gathering nuts. She will then end up with [J 4
hours/day] x O 4 pounds/hourd =16 pounds of coffee per day and [ 2 hours/day] x O 2 pounds/hour] =4
pounds of nuts. This is the point labeled B in Figure 2.1. Alternatively, if shedevotes 2 hours to coffee and 4 to nuts,
she will get 0 2 hours/dayd x [0 4 pounds/hour] = 8 pounds of coffee per day and (I 4 hours/day[] x [ 2
pounds/hourd = 8 poundsof nuts.
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